Matrix Multiplication

Note: a matrices dimension is determined as rows x columns

2 8
EX: [3 6] is a 3x2 because it is three rows down and 2 columns across
14 4

In order to multiply- the column space of the first matrix must match the
row space of the second:

2 8
EX:|13 6| ] —=3x2-_x__
4 4

will give us an answer matrix with dimension of X

EX:A-B =

2 8 2 3 |

3 6| [ ] since it is 3x2 - 2x2 the answer will be a
-1 1

4 4

3x2

First write the first ROW of A two times because B has two columns.

2()+8() 2()+8()’
30)+6() 3()+6( )
40)+4( ) 40 +4(),

We will then fill in the COLUMNS in the ( )

2()+8()  2()+8()] [ l

30)+6( ) 3()+6()
4()+4() 40)+4( )]
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Simplify. Write "undefined" for expressions that are undefined.
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